
Lenght of circle 
 C = 2πr 
                                                                                            b 
Area of parallelogram 
 Sparallelogram = ab          
                                                                       a 
Perimeter of parallelogram 
 Pparallelogram = 2(a + b)                            
 
Area of triangle 
 Striangle = ௕௫

ଶ
  

                                                          a           c 
Perimeter of triangle                                       x 
 Ptriangle = a + b + c 
                                          b 
Currency 
1 GBP = 1.37160413 EUR 
1 GBP = 1.54695 USD 
1 EUR = 0.729073338 GBP 
1 EUR = 1.12784 USD 
1 USD = 0.886650589 EUR 
1 USD = 0.646433304 GBP 
 
Simple equations 
a - x = b      a + x = b  x - a = b  a / x = b 
x = a - b      x = b - a  x = a + b  x = a / b 
 
x / a = b   ax = b 
x = ab      x = b / a 
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